SEWER EXCAVATIONS

1a

SEWER PIPE LINE A (conexion with main line):

Area: 10,73 m2

Excavate: 3,53 m2

SEWER PIPE LINE A (conexion with the branches):
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L=14,03 m

Soil area= 6,7 m2
Soil volume= 6,7 x 14,03= 94 m3

1 b SEWER PIPE LINE B (Left side):

Average of the 2 areasbecause there is a slope):

(10,73 + 3,53)/2=7,13 m2

Excavation m3= 7,13 x L=7,13 x 33,47= 238,64 m3
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Sand
0,36 m2 x 33,47 m =12,05 m3
Volume pipe= I r*2-h = 10,0552 x 33,47=0,318 m3 L=19,44m

Total Volume sand:
12,05-0,318= 11,73 m3

Soil area= 4,93 m2
Soil volume= 4,93 x 19,44= 95,84 m3

Sand area (Top)= 1,01 m2
Sand volume(Top)= 1,01 x 19,44= 19,63 m3

SEWER PIPE LINE B (Right side):
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Average of the 2 areasbecause there is a slope):
(12,95 + 2,95)/2=7, 95 m2
Excavation m3= 7, 95 x L= 7,95 x 21,2= 168,54 m3
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Sand
0,36 m2x21,2m= X
Volume pipe=r*2-h =10, x 33,47=0,318 m3

1 C SEWER PIPE 3 branches:

Total Volume sand:
7,63-0,318=7,31m3

Soil area= 7,63 m2
Soil volume= 7,63 x 21,2= 161,75 m3

area=7, 95 m2
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Excavation m3=7, 95 x L=7,95x1,91 = 15,18 m3

15,18 x 3= 45,55 m3
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Sand:
0,36 m2 x 1,91 m=0,68 m3

Volume pipe= I r*2-h =1 0,055"2 x 33,47=0,318 m3

Total Volume sand
0,68-0,318= 0,37 m3
0,37 x3=1,1m3

Soil area= 7,62 m2

Soil volume= 7,62 x 1,91= 14,55 m3

14,55 x 3= 43,66 m3




